ASR/100,000 (World segi) ASR/100,000 (World segi) ASR/100,000 (World segi)

ASR/100,000 (World segi)

Unclassified sarcoma (n=1513) Leiomyosarcoma (n=1281) GIST (n=822) Liposarcoma (n=713) Dermatofibrosarcoma (n=496)

APC=-16]|95% Cl=(-3.6;03) APC=-2.6*| 95% Cl=(-4.6 ;-0.6) __ APC=3.7*|95% Cl=(0.8;6.8) APC=13]|95% Cl=(-11;3.7) APC=0.6 | 95% CI= (1.4 ; 2.7)
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Chondrosarcoma (n=454) Kaposi sarcoma (n=419) Osteosarcoma (n=359) Angiosarcoma (n=335) Ewing sarcoma (n=330)
APC=4.1*| 95% Cl= (1.6 6.6) APC=-4.1%| 95% Cl=(-6.8;-1.4) __ APC=-0.6|95% Cl=(-3.7;2.6)  __ APC=22]|95% Cl=(-1.2;5.7) APC= -0.2 | 95% Cl= (4.1 ; 3.8)
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Rhabdomyosarcoma (n=286) Synovial sarcoma (n=219) Nerve Sheath Tumours (n=191) Myxofibrosarcoma (n=183) Endometrial stromal sarcoma (n=173)
APC=-1.1|95%Cl=(-6.2;4.4) APC=12|95%Cl=(-42;6.9) APC=-0.1|95% Cl=(-4.3;4.4) APC=8.2*| 95% Cl=(0.4;16.6) APC= -3.7 | 95% Cl= (7.4 ; 0.1)
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Fibrosarcoma (n=151) Chordoma (n=126) Solitary fibrous tumour (n=102)
APC=-9.2%| 95% Cl= (-15.7;-2.3) __ APC=0.8|95%Cl=(-4.8;6.6) APC=12.2*| 95% ClI= (6.2 ; 18.5)
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